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��)/ ;�,-$��� +)
��&#���6���;�(,$K�)
��
��6� ��")�K�
#��%�����%(�5
$#�);�V�
���W�� $�����.*/-��0 	� 1�.)�.�3�����.   ��4$)�$  
���'0�K�
#���6���;�(,$K� ��K�
%��#�)  ��)J%(;$�K�K��
�)
��1(��� 6/:%��5
$I I��$�*/-
5
�I;�
��$�5
��  
($)��6���
���*��%(�% 
+5"#�����;(���/:��;��V���&J��. 

5$5$&#��1J
*/-; /-��5
$�$,-�W)���/:  
 - I/-�� �0 	����YY�"**� *���*/-#$�%����� %(�K�
#����J
*/-;�T����"�6�. 
 - ;I,-$��� �0 	����� ���"*�#���#�*� #�  ������&#���6���;�(,$*/-)/*� )
��
($)��
 ��(��K�*/-�$&K�
% �#��1J
��)*��
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���
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1.1  ����!�"�����������
���9&���A9$� 

K��Z���&����&& ���,-$�����:��/#������#�Y
�$6/��
���	�.;�T�$������  *��K�
�/ ��
I�l����&&�,-$���+�
����J�%&&
���W */-;�T����"�6�.%(������K6
��� ��$���� �
��5��� ;6�� 
 ���,-$���1���)��;*/�� ��&&$��;
$�.;�V
 %(���&& ���,-$���;#(,-$�*/-
���W ;�T�

�  )����:�
 ��I�l��%(�$$ %&&���$� ��;I,-$K6
���K���&&�,-$���+�
����0��/#������;�T� ")�*��K�

��YY����&%(�����/#���1�)I(�)�
$�*/-��) )����:� ��;(,$ 6��)5$����$� ��*/-

$� ����*��
 ����
����:����;�T�

$�I������'0�#��(� 	��5$�%&&�J� ��%1� ����� ��(�����(Radiation 
pattern) *�:�K�����&����+__^� (E-plane) %(�����&����%��;�(V  (H-plane) U0-����$� ��
%'�(��)�&��*
$�+�"#��
���;�T����$� ��*/-+)
��&#������������K6
����� K� ���,-$���
%&&+�
����/: 

;�
�1(%(�#������#�Y5$� ��*��"#������/: ;�,-$��� ���$� ��%'�(��)�&��*
$� 
+�"#��
���;�T����$� ��*/-�/5��);(V  �*�)��) ��
��+)
���� ��#�'J  �:����� ;&�  
�)
�:����� %(�
;#(,-$��
����)�  ���$� ��)�� (���'J $$ %&&;I,-$*)%*����$� ��
����*
$�I���"&(�   
U0-�")�*�-�+����/%&&�J� ��%1� ����� ��(�����;�T�%&&�� (�  ;�,-$������$� ��%'�(��)�&
��*
$�+�"#��
����/:��K6
 �&;#�,$5���*
$�'�-�%&&+�
��� ")�
�)
�:�&��;��;I)���
$�  ��*��K�

�����' ����) ��%1� ����� ��(�����;�T��J��� (�+)
;6�� ��  %
�K��Z���&��+)
�/ ��$$ %&&
�
$�5��)K�Y�*/-�/�J�����*������%(�������  �0�*��K�
�/#(,-�&������+��#�$&#(��&��;��*/-K6

��� %(�#(,-�&������$����; ��&��;��*/-K6
�������  )����:�"#������/:�0�*�� ��$$ %&&
���$� ��%'�(��)�&��*
$�+�"#��
��� ������&I,:�*/-#�$&#(���$�&��;��*/-�/(� 	��;�T�
�� (��$���%��
�:� �0�*��K�
�����'#�$&#(��I,:�*/-1J
K6
&�� ���$� (���*/-

$� ��K6
���+)
")�
+���JY;�/�I(�����")�;�(�����"�6�.  

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 



 

2 

 
         �J�*/- 1.1 ���$� ��%'�(��)�&��*
$�%&&+�"#��
��� 

 

1.2  ���
0������4 
1.  ;I,-$�0 	�#��(� 	��5$����$� ��%'�(��)�&��*
$�%&&+�"#��
��� 
2.  $$ %&&���$� ��%'�(��)�&��*
$�+�"#��
���%&&�$�(��#(,-� */-#���'/- 
      2.45 GHz  ;I,-$() ���JY;�/�I(����� ��%1� �����#(,-�*/-+��K6
���"�6�. 

 

1.3  &��!&���� 
1.  $$ %&&���$� ��%'�(��)�&��*
$�+�"#��
��� 
2.  ��
�����$� ��

�%&& 
3.  ��)%(�*)�$&���$� �� 
 

1.4  &� ��������
�!������ 
1.  �0 	�%(�#
�#�
�; /-�� �& ��$$ %&&%(� ����
�����$� ��%'�(��)�& 

              ��*
$�+�"#��
��� 
2.  �0 	� ��K6
���"��% �� CST %(�"��% �� MATLAB 
3.  $$ %&&���$� ��%'�(��)�&��*
$�+�"#��
���K�����#���'/- 2.45 GHz 
4.  ��
�����$� ��

�%&&
��*/-$$ %&& 
5.  ��)#��5$����$� ��

�%&&%(�����1(*�������� 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 



 

3 

1.5  @��������#�5������� 
1.+)
���$� ��%'�(��)�&��*
$�+�"#��
���������&I,:�*/-#�$&#(���$�&��;��K�  
(� 	���� (��$��� ;I,-$() ���JY;�/�I(����� ��%1� �����#(,-�*/-+��K6
���"�6�. 

2. �����'*��&#��(� 	��5$����$� ��%'�(��)�&��*
$�%&&+�"#��
��� 
3. �����';5
�K�K�*� 	� ����
��%(� ����)*)�$&;I,-$��#����&�
�5$����$� �� 
4. �����'���#����J
*/-+)
��  ���0 	�K���#*q	r/5$���6�
���W*/-+)
��  ���0 	�                            
���s�&�
�%(������ 
.K6
+)
���� 
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����� 2  
�;'<����$���������!�����&��� 

 
2.1  ���
� 

"#������/:���;��$ ��$$ %&&���$� ��%'�(��)�&��*
$� (Reflectarray Antenna)  
+�"#��
���%&&�$�(��#(,-� ")����$� ����'J 
�)
�:�&��;��;I)���
$�5��)K�Y� ������&K6

���K���&&;#�,$5���*
$�'�-�+�
��� (Wireless LAN) */-�/����#���'/-*/- 2.45 GHz �0�*��K�
�/ ��%1�
 ����� ��(�����+����&��;��*/-�/1J
K6
&�� ��;*����:� ")�%&&�J� ��%1� ����� ��(�����*/-K6

$$ %&&���$� ��%'�(��)�&��*
$�+�"#��
���������&I,:�*/-#�$&#(���$�&��;��K�(� 	��
�� (��$��� U0-�5�:�
$�K� ��*�� ��$$ %&&���$� ���/)���/: 

-  �����;#����.I,:�1����*
$�$
��$��")�K6
*������
�. ����I (PO) %(�*q	r/ ��
;(/:��;&�;6�� ����I (PTD) 

- *�� ��#�������#�� ��������;_� (phase delay) 
- *�� ����;_�5$���������*[�\ ����*
$� (Reflection Coefficient Phase) ")�K6
       
"��% �� CST 

- *�� ��;��/�&;*/�&#��;_�*/-+)
��  ��#�����%(� ��K6
"��% �� CST %(
������
5��)%I*6. ;I,-$��
�����$� �� 

- ��
��6�:���� 
- ��)*)�$&���$� ��;��/�&;*/�&1( �& �����($�%&&)
��"��% �� CST %(�
"��% �� Mathlab   

 

2.2  1� �@��5��������������� 
 2.2.1  ������!����$41� �@��5��������������� 

I,:�1��5$������*
$�*/-

$� ����;�T�I,:�1��*/-; �)��  ���������J�����I,:�1��)
��
�� ��#��
���
�.K��J�1(���5$�_Z� .6��;6��
�:�4�  #J� �&#����������*[�\5$�%
�(�I��.")�
;(,$ K6
�� ��I,:�1�������*
$� PFS [1] U0-�$�J�K��J��� ��I�����$��)�&������ �&{��.�$�� 
_J��;��.)���/: 
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2 3 2 3 2 2

1 2 3 4 5 6 7 8 9

1 1

( , ) ( ) ( )
NyNx

rs r s

r s

z x y a x a x a x a y a y a y a xy a xy a yx C f x f y
= =

= + + + + + + + + +∑∑       (2.1) 

" ) � */- ( ) 1,cos( ),sin( ),cos(2 ),sin(2 ),..., cos( ),sin( )
r

f x x x x x nx nx=  �� � � �� &
r=1,2,3,}.Nx   f

s
(y)=1,  cos(y),  sin(y),  cos(2y),  sin(2y),  cos(ny),  sin(ny) �� � � �� & s=1,2,3,}.Ny  

���� ( , , )x y z   #,$
��%����K���&&I� �)4� 5$������*
$� �J�����5$�I,:�1�������*
$��0�
50:� �&#����������*[�\K��� �� (2.1) ������I��. ( )Nx Ny× K��� �� (2.1) �/1(
�$
#��������'K� ����
�� (��#(,-�5$�I,:�1�������*
$�*/-���;#����.+)
 Bergman and Hasselmann 
[2] I&��� ��K6
������I��.{��.�$�� _J���.�� ; ��+�K��� ��I,:�1�������*
$���*��K�
; �) ��
���-�+��$������ 5$�IJ5
��K�%&&�J� ��%1�I(�����U0-�*��K�
; �)#���;I/:��5$�%&&�J� ��%1�
I(������� 50:� %(� Brown [3] I&���'
�K6
��������)���; 
(N) ��  ���������I��.{��.�$�� _J��
;��. ( )Nx Ny× ��*��K�
%&&�J� ��%1�I(�����*/-���;#����.+)
'J 

$��� 50:� 

 

 
 

 
�J�*/- 2.1 5�:�
$�5$� �����[/��#��;������*/-��)5$�#����������*[�\�� ��I,:�1�������*
$� 
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#����������*[�\�� ��I,:�1�������*
$� �����'��+)
��  �����[/��#��;������*/-��)
)���J�*/- 2.1  ��#�������#��
$&;��-���  ����)#���Z����5$���&&���$� �������*
$�+)
% � 

1. #���'/-�s�&�
� ��  
2. (� 	��I,:�*/-#�$&#(��  
3. $�
��5���5$���&&���$� ��  
4. 5��)5$������*
$�  
5. ����"_ ��5$����$� ����*
$� 
6. ���$� ���^$�  
K� ��#�������#��
$&5$� �����[/��#��;������*/-��) �$ �� 

$�*��&#���Z����5$�

��&&���$� �������*
$�*/- (���+�
%(
���:� ���;�T�

$� ����)#��
$&#��:�%� 5$��� ��
I,:�1�������*
$� (2.1) K�*/-�/:#,$#����������*[�\I,:�1�������*
$�;I,-$��I,:�1��")������� 
������& ��#�������%&&�J� ��%1�I(�����5$���&&���$� ����K6
*������
�. ����I %(
�
���%&&�J� ��%1�I(�����*/-#�����+)
+�;��/�&;*/�& �&%&&�J� ��%1�I(�����5$����$� ��*/-


$� �� U0-��/+)
 �$��J�%&&+)
% � %&&(��#(,-����$& (contoured beam) %(�(��#(,-�)���$ 
(pencil beam) 1(
�����,$#���1�)I(�)*/-; �)50:�%�)�K��J�%&&*/-;�/� ��� _Z� .6����
'������#. 
(objective function) U0-�;�T�#��1(���5$�1(
���5$�$�
��5���*/-#�����+)
  �&$�
��5���*/-


$� ��*/-
��%����
���W5$���)���; 
 _Z� .6����
'������#.�0�;�T�_Z� .6��5$�
��%����������*[�\
�� ��I,:����1�������*
$�*/-
��%����
���W*/-U0-�;5/��+)
;�T���I��.+)
K��� �� (2.2) 

 

( , )
desired

position

F position coefficient Gain Gain= −∑                                    (2.2) 

 
'
�_Z� .6����
'������#.�/#���
$� ���*/-�$���&+)
 #����������*[�\;�(����:� V��;�T�#��
$&

K� ���������J�����I,:�1�������*
$� %
�'
�_Z� .6����
'������#.*/-; �)50:� �/#����  ���*/-��
�$���&+)
 ��

$����#����������*[�\;�(���/:+���#��
$&K���")� �����[/��#��;������*/-��) 
;I,-$K�
%&&�J� ��%1�I(�����*/-#�����+)
K (
;#/�� �&%&&�J� ��%1�I(�����*/-

$� ���� */-��) 
;�,-$*��U:��%&&�/:��+)
#����������*[�\*/-

$� ��%(
� �0��������K6
���;#����.�J�����I,:�1�����
��*
$�+)
(� 	�� �����&
��5$�I,:�1����*
$�;I,-$K�
+)
%&&�J� ��%1�I(�����*/-

$� �� 
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2.2.2  ��!������B���!����$4�
�$�������
���.����-�����@#1������ 
  ����;#����.;I,-$��(� 	����&�
� ��%1�I(�����5$����$� �������*
$� *��+)
")�
$����*q	r/ ����;#����.����#���'/-�J� K�"#������/:+)
;(,$ K6
*������
�. ����I (Physical 
Optic:PO) ������& �����;#����.%(�*q	r/ ��;(/:��;&�;6�� ����I(Physical Theory of 
Diffreation:PTD) ������& ����;#����. ����+__^�%(�����%��;�(V �� ���$� ���^$� ��(�� 
;�,-$#(,-�;#(,-$�*/-��
  ��*& �&I,:�1�������*
$�U0-�;�T�I,:�1��
�������&J��. ��;��/-�����K�

; �) ��%�*������
�. ����I&�I,:�1�������*
$�U0-�;�T�I,:�1�������&J��. ��;��/-�����K�
; �)
 ��%�*������
�. ����I&�I,:�1�������*
$�*/-
��%���� 'r  �/#��;�T�)���� �� (2.3) 
 

$2po i

s
J n H= ×                                                                        (2.3)

 

 
�J�*/- 2.2 ;�5�#��
������& ��#�����#������+__^�")���;&/�&��[/*�����
�. ����I 

 
;�,-$ $n  #,$;� ;
$�.��0-������*/-
�:�4� %(��/*��I���$$ �� I,:�1�������*
$� %(� iH  #,$
����%��;�(V 
  ��*& )����:�%&&�J� ��%1�I(�����;�,-$���  ��%�;��/-�����*/-��)�� ; 
 r  
%�)�)���� �� (2.4) 

'' ' . '( ) ( ) ( . ))
4

jkr
po po jkr r

s s

Sa

e
E r j j r r j r e ds

r
ωµ

π

−
− 

 = − −   
 

∫
uv v

               (2.4) 
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")�*/- k #,$;(5#(,-� 
a

S  #,$5��);��5$�I,:�1�������*
$� 'r  #,$;� ;
$�.��0-������K�*��*��
5$���)���; 
 #������
���� �� (2.4) �����'K6
+)
 �&
��%����5$���)���; 
*�:�K���������
����K (
%(���������+ ( 
  ��%�*������
�. ����I
���� �� (2.3) �����'K6
K� �������� ��%�;��/-�����
+)
'J 

$�;I/��&������;*����:�� ;�
� ��%�;��/-�����*/-; �)50:�&��;��5$&5$������*
$� ;�T�*/-
*��& ��)/��������� *������
�. ����I��K�
#���'J 

$�K�6���(��#(,-�IJ�(� %(�IJ5
��%� W
;*����:� U0-�;I/��I$������&K6
K� ����;#����.;I,-$���&����$�
��5���5$���&&���$� ��%(�()
��)�&IJ5
��K (
W(�+)
 %
�������&��)���; 
*/-����+ ($$ +���,$ ��*�������)�&"I(�+�;U6��
+5�
 ����+__^���  ��;(/:��;&�*/-5$&�/&*&�*���#�YK� ����;#����. ;�,-$��� *������
�.
 ����I+)
���1(��  ��;(/:��;&��� 5$&+�
&
��%(
���)�&��0-�%
�+����&J��. ���+��+)
���
 ��%�$/ ������0-�*/-; �)50:�;�/� ���  ��%����J(*/-+�(+����-��;��$ (nonuniform current) */-
&��;��5$& )����:�K� ��#�����%&&�J� ��%1�I(������0����;�T�

$����*q	s/ ��;(/:��;&�;6��
 ����I (Physiscal Theory of Diffraction,PTD) ��K6
 ;I,-$K�
1( ��#������/#���'J 

$��� 50:� 
����+__^�
��*q	s/ ��;(/:��;&�;6�� ����I;�T�1(����� ����+__^�
��*������
�.
 ����I %(����� ��;(/:��;&�;�,-$��� #���+����-��;��$5$� ��%�*/-&��;��5$&)���� �� 
(2.5) 
 

PTD PO fringeE E E= +
uv uv uv

                                             (2.5) 
 

")� PTDE
uv

   #,$����
��*q	s/ ��;(/:��;&�;6�� ����I 
POE

uv
     #,$����
��*������
�. ����I 

fringeE
uv

 #,$���� ��;(/:��;&�;�,-$��� #���+��;�T���-��;��$5$� ��%�&��;��5$& 
 

0
0( ) [ ] '

4

jk
f f

fringe

jkZ e R
E r R R I e Y R M e dL

Rπ

−

= × × + ×∫
uv uv uv uv

$ $
�                          (2.5 ) 

 
fI %(� fM  #,$ ��%�+__^�%(� ��%�%��;�(V ���J(*/-+�(+����-��;��$&��;��5$&  

�/#��;�T�)���� ��(2.55) '
dl  #,$#������������$�
��%��5$&5$������*
$� 
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'
'

2 ' '

( . )2 2 sin( / 2)
1 2 cos( / 2)

sin cos

i

f

E e j
I

Zk

φ
µ φ

β φ µ
−  = − − − +

uv
$

                               (2.55) 

          ' '

' '

2 1
( . ) [cot cos cot cos

sin cos

i j
H e

k
β φ β φ

β φ µ
− +

+

uuv
$  

           ' ' 1/22 sin( / 2)( cot cot cot )(1 ) ]φ µ β β φ µ −+ − −  
'

2 sin 1 2 cos( / 2)
( . ) 1

sin sin ' cos 1
f

jZ
M Hi e

k

φ φ
β β φ µ µ

 
= − − 

+ −  
�                    (2.5#)

  

��� 
  

1 '

sin cos

sin

β φ
µ

β
=                                         (2.5�) 

 
e$  #,$;� ;
$�.��0-������K�*��*�����1�� �&��);(/:��;&� ' '( , )β φ  #,$��&&I� �)*/-��)5$&

5$�����/
  ��*& ( , )β φ  #,$��&&I� �)*/-��)5$&����/;(/:��;&�  
 

2.2.3  ���'.����!�&��.��&�������������	5�������� 
 ;�5�#��
������& ��#�����#������+__^�")�*������
�. ��%(�"#����
��5$���&&
���$� �������*
$�;)/-��)�)�J�%&&+������
�)���J�*/- 2.2 U0-���� $&)
��5��);�
�1���
�J��. (��5$���I4�������*
$� ( )D  5��);�
�1����J��. (��5$������*
$�;)�� �$�'J 
�)
)
������&$$_;U
 (offset plane, ����& x-z, Dp) ����"_ ��5$������*
$�;)�� �$�'J 
�))
��
����&$$_;U
 ( )f  ����$$_;U
 (offset distance, h ) ���;(V�5$����$� ���^$� ��(��#(,-� 
(feed angle, 

fψ ) %(� ����)K�
���$� ���^$� ��(��#(,-�$�J�*/-��) ( )p p fO x y z %(�����+__^�*/-
��)���; 
 r  ( , , )x y z  
 ��  ���0 	�+)
K6
�� ��I�����$��)�&������{��.�$�� _J��;��.)��%�)�K��� �� (2.1) 
;�T��� ��I,:�1�������*
$� ����+__^���������+ (��  ��;��/-�����5$� ��%����J(
&��;��1�������*
$� ")� ��%�;��/-�����&�I,:�1�������*
$�#������� �� �� (2.3) )���/: 
    

$2
i

J n H= ×                       (2.6)
     
")�*/- $n  #,$;� ;
$�.��0-������*/-
�:�4� %(��/*��*/-I���$$ �� I,:�1�������*
$� U0-�%�)�K�
I� �) ( , , )x y z +)
;�T� 
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$ [ ]

[ ]
( , )

( , )

z w x y
n

z w x y

∇ −
=

∇ −
$ [ ]

[ ]
( , )

( , )

z w x y
n

z w x y

∇ −
=

∇ −
                                      (2.7 )

 ( ) ( )2 2

2 3 7 8 9

1 1

2 3 2
NyNx

r

x rs s

r s

df x
a a x a x a y a y a xy C f y

dx= =

 
∇ = + + + + + + 

 
∑∑            (2.75)

 ( ) ( )2 2

4 5 6 7 9 8

1 1

2 3 2
NyNx

r

y rs s

r s

df y
a a y a y a x a x a xy C f x

dy= =

 
∇ = − + + + + + + 

 
∑∑            (2.7#)

 1
z

∇ =                      (2.7�)
  

)����:� 

$
2 2 1

x y zx y

y

a a a
n

x

∇ +∇ +
=

∇ +∇ +

v v v

                                   (2.8)

  
%(� i

H #,$����%��;�(V �� ���$� ���^$� ��(��#(,-�*/-
  ��*&&�I,:�1�������*
$� ")�
#�������  

 
f

i i

o

s E
H

z

×
=                                               (2.9) 

is  #,$;� ;
$�.��0-������K�*��*��
  ��*& f

E #,$����+__^��� ���$� ���^$� ��(��#(,-� 
 ��(��#(,-� ����)K�
���$�J�*/-��)"_ ��5$������*
$� ( 0, 0, 0)f f fx y z= = =  )����:�;� ;
$�.
��0-������K�*��*��
  ��*&5$���&&I� �)4� #,$ 
 

 
2 2 2

x y zr r r
i

r r r

x a y a z a
s

x y z

+ +
=

+ +

v v v
v

                                          (2.10)

  
%(�;� ;
$�.��0-������K�*��*��5$���)���; 
U0-��/*���� ��)&���*
$�+������)���; 
K)W #,$ 
 

 
2 2 2

( ) ( ) ( )

( ) ( ) ( )

x y zr r r

r r r

x x a y y a z z a
s

x x y y z z

− + − + −
=

− + − + −

v v v

$                                         (2.11)

  
�� �����' �� (2.4) ����+__^��� *������
�. ����I #�������  ��$��*�; �


%�(�� ��%����J(")�;*/�& �&I,:�*/-1�������*
$�  ��$��*�; �
;*/�& �&I,:�*/-1�������*
$�
�����'*��K�
��)� 50:�")�;�(/-��;�T� ��$��*�; �
;*/�& �&I,:�*/-��I4��5$������*
$� U0-��/

I��.5$���"#;&/�� ( )2 2 2

x y z
∇ +∇ +∇ ;I�-�50:���K6
;�T�
��%�� ��$��*�; �
)���/: 
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( ) ( ) ) ' 2 2 2( ) ( ) ' ( . '
4

jkr
po po jkr r

s s x y z

Sa

e
E r j J r r J r r e ds

r
ωµ

π

−

 = − − ∇ +∇ +∇ ∫
uv v

$              (2.12) 

 

")�*/- ds  #,$ 5��)I,:�1����$�5$�����&;��I,:�1�������*
$� #������+__^�*/-#�����+)

�����'���+���#��#��(� 	��5$����$� ��;6�� %&&�J� ��%1�I(�����5$����$� ��K�%��
"I(�+�;U6������ $�
��5���5$���&&���$� �� #��#��(� 	��;�(���/:�����'�����K6
K� ��
$$ %&&�J�����(��#(,-�#�$&#(��I,:�*/-U�&U
$�+)
K��J�%&&5$�_Z� .6����
'������#. 
 ���� ��;(/:��;&�;�,-$��� #���+����-��;��$5$� ��%�&��;��5$&���$� �����
��*
$���#�����+)
")����
�������$� ���^$� ��(��#(,-����$�J�*/-I� �) ( , , )p p px y z  K���&&
5$������*
$� %(�K�
 ( )

D d d d
Q x y z ;�T���)&�5$&5$������*
$� %(��� �J�*/- 2.2.1 5$&

5$������*
$������' ����)")�$
��$��
��%��;����")����
�K�
��I4��5$������*
$�;�T�
�J��� (�)���/: 

 
�J� 2.3 ��&&���$� �������*
$�;)/-��)�)�J�%&&+������
� 
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cos
2 2

sin
2

a

a

D D
x h

D
y

φ

φ

= + +

=

 

2 3 2 3

1 2 3 4 5 6 7( , )z x y a x a x a x a y a y a y a xy= + + + + + +  
2 2

8 9

1 1

( ) ( )
NyNx

rs r s

r s

a xy a yx C f x f y
= =

+ + +∑∑                          (2.13) 

 
;� ;
$�.&$ 
��%����&�;�
�"#
�5$�5$&*/-��)5$&;�T� 
 

x y zr xa ya za= + +
v v v v

                                           (2.14) 
 
�� �� �� (2.13) I� �)
��%����&�5$& ( , , )x y z ;�T�_Z� .6��5$���� 

a
φ )����:�;�,-$��$��I��[.5$�

%
�(�$�#.��� $&K��� �� (2.14) ")�;*/�& �&��� 
a

φ ��+)
 
 

 
' sin

2

' cos
2

x a

y a

D
r

D
r

φ

φ

= −

=
                  (2.15) 

2' ' 2 ' ' ' ' '

1 2 3 4 5 6 7

' 2 ' ' 2 ' ' '

8 9

1 1

' 2 3 2 3 ( )

(2 ) (2 ) ( ( ) ( ) ( ) ( ) )

z x x x y y y x

NyNx

y x x y rs s r r s

r s a

r a r a xr a x r a y a yr a y r a xr yr

dx dy
a xyr y r a xyr x r C f y f x f x f y

d dφ φ= =

= + + + + + + +

+ + + + + +∑∑

 
 )����:�;�,-$%*��� �� (2.15) K��� �� (2.16) ��+)
;� ;
$�.��0-������K�*��*�����1��
 �&5$&*/-��);(/:��;&� ( , , )

d d d d
Q x y z )���J� 2.3 ;�T� 

 

 
'

'

r
e

r
= −$                                        (2.16) 

 $t e n= ×$ $                                                     (2.17) 
 
")�*/-  ' ' '' x y zx y zr r a r a r a= + +

v v v v
   %(� '2 ' 2 '2'

x y z
r r r r= + +
v

 

 

 ;� ;
$�.��0-������K�*��*�����1�� �&5$&*/-��);(/:��;&� e$  )���� �� (2.15) �/*��*��)��
�J� 2.3 ;� ;
$�.��0-������K�*��*�����1��I,:�1�������*
$�*/-��);(/:��;&�%(��/*��I����� ��)
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;(/:��;&�;5
���I,:�1�� ( )t$  �����'��+)
)���� �� (2.17)  ")�*/-;� ;
$�.��0-������K�*��*��
�:�
4�  �&I,:�1��*/-��);(/:��;&� $( )n ;�T�)���� �� (2.8) ;I/��%
�%*�I� �) ( , , )x y z  )
��I� �)5$�5$&

�����*
$�
���� �� (2.13) U0-��/*��)���J� 2.3 %(�;� ;
$�.��0-������K�*��*��
  ��*& 
'

( )s$

%(�*��*��5$� ��;(/:��;&� ( )s$  �/*��I���$$ �� ��);(/:��;&�+������)���; 
K)W ��+)

���� �� 
(2.10) %(� (2.11) ")� ��%*��� �� (2.13) U0-�;�T�I� �)5$�5$&�����*
$� ;� ;
$�.��0-������

�:�4� #J� �&5$& ( )b$  #,$ 
 

 
' "

' "

r r
b

r r

×
=

×

$                                                          (2.18) 

 
*��K�
+)
;� ;
$�.
�:�4�  �&5$&*/-��)5$&%(��/*��I���$$ �� ��)�J��. (��#���"#
�;�T� 
 
 $

en b e= ×$ $                                                          (2.19) 
 
  ;�,-$����� �� (2.5) ��I������ �&��&&I� �)5$&5$������*
$�U0-�50:� �&���*/- ��)
�� % � x  5$���&&���$� �� φ %(� S  #,$;� ;
$�.K�*��*��5$���)���; 
 ����+__^�
;�,-$��� #���+����-��;��$5$� ��%�&��;��5$& �����';5/��K���+)
;�T� 
 

 0
0

( ) [ ] ( ( ))
4

jks
f f

fringe

jkZ e
E r s s I e Y s M e d r

S
φ

π

−

= × × + ×∫
uv v

$ $ $ $ $
�           (2.20)

  

")�*/- ( ( )) ( )d r r dφ φ φ=
v

$  

 �� �� �� (2.20) ��� (2.12) ���+�%*�K��� �� (2.4) ��+)
����+__^�
��*q	r/
;(/:��;&�;6�� �����I  
 
 2.2.4  ����1����&��50����!�� 

K� ��*��"#������/: +)
 ����)��)���; 
K��J�%&&(��#(,-����$& +)
% � ��&&I� �) 
( , )U V U0-�;�T���&&I� �)*/-���
�50:� ��&&I� �) ( , )U V  ;�T� ���$�I� �)
��%����5$���)���; 


���W �� ��&&���$� �������*
$�")�
��U0-�;�T���&&I� �)*/-K6
")�*�-�+� ")�*/-
��%����
5$���)���; 
+��+)
50:�$�J� �&#��(�
��J)%(�($����J)U0-�#��;�(���/:��K6
 �&��)���; 
*/-$
��$�� �&

��%�����J�����
�.&�"(  ��&&I� �) ( , )U V  %�)�)���J� 2.4 
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�J�*/- 2.4 ��&&I� �)5$������*
$����I��[. �&��)���; 
 

 
�� �J�*/- 2.4  ����)��&&I� �)5$����$� �������*
$� ( , , )x y z ��)���; 
 r  $�J�����

�� ��) 0-� (��5$���&&I� �)���$� �������*
$�;�T�����*�� 
0

R  %(�*����� θ   �&% � z  
*����� φ   �&% � x )����:���&& ( , , )x y z ���I��[. �& ( , , )r θ φ  )���/: 

 
0

0

0

sin cos

sin sin

cos

x R

y R

z R

θ φ

θ φ

θ

=

=

=

                                         (2.21 ) 

 
��� 

0
R ���
($)�� �� (2.6 ) %(�;�,-$��� % � U  �/*��*��;)/�� �&% � x 5$���&&

���$� ��%(�% � V  �/*��*��;)/�� �&% � y  5$���&&���$� ����+)
 
 

 0

0

sin cos

sin sin

x
U

R

y
V

R

θ φ

θ φ

= =

= =

                                                     (2.215) 

 
 )����:�%&&�J� ��%1�I(�����*/-

$� ��
��
��%����  ( , )U V +)
% �  G ( , )U V #,$
$�
��5���5$���&&���$� ��*/-

$� ��
��
��%���� ( , )U V %�)�)���J�*/- 2.5 �(����  ����)
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��%���� ( , )U V %(
������'��
��%������� ( , )θ φ  �� ��&&���$� �������*
$�")��/
#������I��[. �&��&&I� �) ( , )U V  )���/: 

 
�J�*/- 2.5  �� ����)$�
��5���5$���&&���$� ��
����&&I� �) ( , )U V  

�� �� �� (2.215) ��+)
 

 tan
V

U
φ =                                                                   (2.21#) 

 
1tan

V

U
φ −=                                                                    (2.21�) 

 
2 2

cos 1 ( )U Vθ = − +                                                                  (2.21�) 
 

1 2 2
cos 1 ( )U Vθ −= − +                                                                 (2.214) 

 
2.2.5  ����
���.����-�����@#1������&���������	 
�� �����5$� Ludwing [4] 

   ���$� ��")�*�-�+���:����/(� 	��  ��*�����*/-%
 
��� ��+� ")��� (���'0�
 ���^$� ��(�����#(,-�����
���W5$����$� ����-�;$� ����+__^���������+ (K�%��+�;U6��
����%(���������+ (K�%��"I(�+�;U6��+5�
�����';5/��%*�)
���� ��#��
���
�.)���/:  
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 ( ) ( )sin sincoE E Eθ φφ φ= +
uv uv uv

                                          (2.22)
 ( ) ( )cos sincxE E Eθ φφ φ= − +
uv uv uv

                            (2.23) 
 

Eθ

uv
%(� Eφ

uv
 #,$����+__^�K�������������+ (K�%��$�#.��� $& aθ %(� aφ 5$�I� �)*��

 (�K�����& φ  K)K)
��(��)�& 
 �� ����+__^�*/-#�����+)
 ���+�#�������$�
��5���5$���&&���$� �� U0-�;�T�#��
�Z�������#�Y*/-&��&$ #��������'K� ��&/&���I(�����*/-%1� ��������� ���$� ��K�
I���+�
K�*��*��
���W�� �
$�;I/��K) ")�#������� $�
������5$�#������%���5$� ��(��#(,-�*/-%1�
I(�����K�*��*��*/-

$� ��;*/�& �&#������%���5$� ��(��#(,-��� %�(�� ��;��)%&&��)*/-%1�
I(�����;*��;*/�� ���$&*��(isotropic point source) */-�^$�)
�� ��(���^$�;)/�� �� �&��&&
���$� ����:� $�
��5$���&&���$� ��K)K) ����)")��� �� 
 

 4
( , ) rad

in

U
G

P

π
θ φ =                                            (2.24) 

 
")�*/-  

rad
U #,$#������%���5$� ��(��#(,-�K�%��"I(�+�;U6������*/-%1�I(�����K�

*��*��*/-

$� �� �/�����;�T� W/Sr %(� 
in

P  #,$ ��(�����*/-�^$�K�
 �&��&&���$� ���/�����
;�T� W ���
�K�
�����*[���I5$����$� ���^$� ��(��#(,-�;*�� �&��0-� )����:� ��(��*�:���)*/-%1�
$$ +��� ���$� ���^$� ��(��#(,-�+�K�&��;��*/-�����*
$����$�J�K�&��;����������+ ( 
( )

T
P  �/#��;*�� �& ��(�����*/-�^$�K�
 �&���$� �� ( )

in
P  *��K�
$�
��5���5$���&&���$� �����

��*
$�;)/-��K�%��"I(�+�;U6������ ( )
co

G %(�K�%��"I(�+�;U6��+5�
 ( )
cx

G �����'��+)


�� 
2

2
( , )

( , ) 4
2

co

co

o T

r E
G

Z P

θ φ
θ φ π=

uv

#���%
 
���5$�$�
��5���K�%��"I(�+�;U6������ �&

$�
��5���K�%��"I(�+�;U6��+5�
�����'�����K6
K� ��I������; /-�� �& ���& �� ��5$�
���$� ��
��$,-�*/-�/ ��K6
���*/-#���'/-;)/�� ��%
�
���"I(�+�;U6�� ")�'
�1(
���*/-; �)50:��/#����-�
�� 50:�*��K�
���$� ��*/-K6
���$�J����& �����$� ��
��$,-�+)
�
$�(� %(�1(
����/:�����'
$
��$�� �&��
����5$� ITU U0-� �����)���1(
����������$�
��5���K�%��"I(�+�;U6������%(�
K�%��"I(�+�;U6������%(�K�%��"I(�+�;U6��+5�
#���/#����  ��� 30 dB 
 

 
2

2
( , )

( , ) 4
2

co

co

o T

r E
G

Z P

θ φ
θ φ π=

uv

                                            (2.25) 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 



 

17 

 
2

2
( , )

( , ) 4
2

cx

cx

o T

r E
G

Z P

θ φ
θ φ π=

uv

                                          (2.26) 

 %&&�J� ��%1�I(�����5$����$� �� �$ �� %�)�$�J�K��J�$�
��5���5$���&&
���$� ��%(
� ��������'%�)�+)
K��J�%&&$,-�W+)
% �  ��(��#(,-�%1�I(�����;*/�&;*��+$"U
*�$�3  (EIRP) 
 

2.3  $�����������������&���������	�
��
�������������������� 
���$� ��%'�(��)�&��*
$�+�"#��
���K6
�(�  ��$$ %&&%1����*
$�+�"#��
���

��,$%1����*
$�+)"I(K�
�/ ����) ��������;_� (Phase Delay) 
��(� 	��1��"#
�5$�
���$� ��
����*
$�I���"&(� */-�/ ���^$���YY��;5
�*/-)
����
�
����*
$� 
 ;�������'#�������;_�;�,-$��� #(,-�;)��*���� 
���^$���YY��+�������$� ��%'�
(��)�&��*
$�%(
���*
$�+������������+ (+)
)���/: 

RkR 0

0

2
==

λ
π

φ                                            (2.27) 

 
 
 

 
 

 

 
 

�J�*/- 2.6  ��%1� �����#(,-�K����$� ��
����*
$�I���"&(�  

a1 

b1 

b2 

a2 

Element a 

Element b 

z 
reflectarray 

Feed horn 

a1 

a2 

b1 

b2 

z reflector 

Feed horn 

feed 
z 

εr, d 
 

ba bbaa φφ ++=++ 2121

2121 bbaa +=+

2121 bbaa +≠+
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%(����$� ��%'�(��)�&��*
$�+�"#��
��� 
 

 
 

�J�*/- 2.7  ��������;_�K����$� ��%'�(��)�&��*
$�%&&+�"#��
��� 
 

;�,-$ R #,$����*��*/-#(,-�;)��*�� ������& ��#����� ��������;_���+)
�� 1(
���
����������� ��%1� �����#(,-�5$�%1����*
$�K)W  �&%1����*
$�$
��$�� ")�*/- m %(� n #,$

��%����%1����*
$�K�%��% � x %(� y 
��(��)�& 

 

( )

sk

RR refmn

refmn

∆=

−=

−=∆

0

0

2

λ
π

φφφ

                                           (2.28) 

 
)����:�;_���*
$�5$�%1����*
$�K)W mnψ  #,$ 
 

Nmn πψφ 2=−∆                                                  (2.29) 
 
;�,-$ ,...3,2,1,0=N  

'
���
�#(,-� (Wavefront) %(�
���^$���YY�����&;(,-$�$$ �� ��)�J��. (��5$���&&
I� �)5$����$� ��%'�(��)�&��*
$� ;�������'��;_���*
$�+)
��  

 
[ ] NrrRk mnmnmn πψ 20̂0 =⋅+−                 (2.30) 

R
ref
 

R
m
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")�*/- 

φθφθ sinsincossin0̂ yxmn ndmdrr +=⋅               (2.31) 
 

;�,-$ xd %(� yd  #,$ ���������������%1����*
$�K�%��% � x %(�% � y 
��(��)�&  

�J�*/- 2.8  ��������;_�;�,-$���  ��;(,-$�
���^$���YY��%(���
�#(,-� 
 

2.4  !���������������@#�������&���������	�
��
�������������������� 
;*#��#;_���*
$�")�$$ %&&%1����*
$�+�"#��
���)
��;*#��# ����);_� U0-�

;*#��#*/-���������K6
�/ 3 ��[/#,$  �����&5��)5$�%1����*
$�  �����&#������5$��
�& %(�
 �����&��� �����5$�%1����*
$� 

2.4.1. �������&���&���@#������� 
 �����&5��)5$�%1����*
$�K6
�(�  �����&#������5$�%1����*
$�K�)
��*/-�/

1( ��*& �&#���'/-;�"U%��U. ;�,-$#���'/-K6
���5$�%1����*
$�;�(/-�������1(K�
;_�5$�
��������*[�\ ����*
$�K�%1����*
$�;�(/-��%�(�)
�� �� 1( �������*/-1�����I&���;�������'
���&#������5$�%1����*
$�+)
+��; �� 4% �� #������ � #���'/-;�"U%��U.;*����:� *��K�
#��
5$���������*[�\ ����*
$�+��#�& 360° )����:��0�#��$$ %&& ����);_�)
�� �����&5��)5$�
%1����*
$�5$����$� ��%'�(��)�&��*
$����� �&;*#��#$,-� �J�*/- 2.8 %�)� ����);_�)
�� ��
���&5��)5$�%1����*
$� 

Feed 

Rref 

Rmn 

rf 

rmn 

rref 

0̂r

center of 

coordinate 
lmn 
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�J�*/- 2.9  �����&5��)5$�%1����*
$� 
 
2.4.2. ��������������&������ 
 ����);_�)
�� �����&#������5$��
�& )��%�)�K��J�*/- 2.10 ��K�
1(5$���������*[�\

 ����*
$�;_�;�T�;6��;�
� U0-������'#�����+)
���� ;�,-$#������5$��
�&;�(/-�� �����1(K�

 ����;_���������*[�\ ����*
$�5$�%1����*
$�;�(/-�� %
� ����);_���[/�/:���/ ���JY;�/�
;�,-$��� 
���
�& ")��
�&*/-�����K6
�/ 3 %&&#,$ 

1. �
�&+�"#��
���*/-
�$ �&)
��5
��5$�%1����*
$� (Edge of patch) 
2. �
�&+�"#��
���*/-
�$%&& ��;6,-$�����$�;I$�.;�$�. (Aperture coupled patch) 
3. �
�&"#%$ ;6/�( 

 
�J�*/- 2.10  �����&#������5$��
�&  . �
�&%&&+�"#��
��� 5. �
�&%&&"#%$ ;6/�( 

 
 

L 

L 

L2 L2 L1 L1 L0 

φ2 

φ1 φ0 φ1 

φ2 

Parabolic 

surface  

Periodic elements 
with variable 
size/phase 

L 
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2.4.3.  ��������0�������&���@#������� 
 ����);_�)
�� �����&��� �����5$�%1����*
$� %�)�)���J�*/- 2.11 U0-����5$�%1��

��*
$������'���&+)
 180° %(� ��������;_����/#��;�T��$�;*��5$����5$�%1����*
$� 
�(�  ����);_���[/�/:;����������&���$� ��*/-�/"I(�+�U.;6���� (� 

 
 

�J�*/- 2.11  �����&��� �����5$�%1����*
$� 
 

2.5  ����������� (Incident Field) ������������� (Reflected Field) 

 
�J�*/- 2.12 %1����*
$�+�"#��
��� 

 

180° phase shift 

outE
r

outE
r
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 �� �J�*/- 2.12 %�)�%1����*
$�+�"#��
��� U0-��/#������ d  #�����I�$�+__^�
(Permittivity) 0r

ε ε %(�#��#���U�&U0�+)
%��;�(V  (Permeability) 0µ  ")�#�����I��$���*��K�

; �) ���JY;�/����K�+)$�;(V 
��  %(�;�������'���� ��;6��$��*/ ��*����+__^� (Electric 
Field Integral Equation ��,$ EFIE) ������& ��%�;6��1��&�%1����*
$�+�"#��
��� ")�K6
 ��
% 
�� ��5$�#(,-�����&
  ��*&&�%1����*
$�+�"#��
�� U0-����$� ��%'�(��)�&��*
$�
+�"#��
�����K6
 �����%1����*
$��(��%1����;�/��(��)�&&�%1������I��I.  
 I������#(,-�����&*/-�/���
  ��*& 0 0( , )θ φ ��+)
����%��;�(V +__^�
  ��*&#,$ 
 

$
0 .

0

incinc jk k R
E E e

−=
uv

                                                                    (2.32) 
$ $0 .

0

0

1incinc incjk k R
iH H e k E

η
−= = ×

uv

                                                                  (2.33) 

 
")�*/- 0E ;�T�5��)%(�;_�5$�����
  ��*& U0-�$�J�K�;*$�5$�$�#.��� $&K�%�� 

5���%(�$�#.��� $&K�%��
�:�4� 5$���&&#(,-�
  ��*& 
 

$ $
0 0 0

inc inc

E E u E uθ φθ φ= +                                            (2.34) 
$ $ $ $

0 0 0 0 0

0 0

1 1inc inc inc inc

H H u H u E u E uθ φ θ φφ θ φ θη η
= − + = − +                                        (2.35) 

%(� 
0 0 0 0in ( cos( ) )

0

c ejk u x v y z

E E
θ+ +

=                                           (2.36) 
$ $ $

in

0 0
sin cos

c

u x yφ φ φ= −                                           (2.37) 
 
R ;�T�;� ;
$�.
��%���� � ��)���; 
 
 

$ $R xx y y zz= + + $                                                         (2.38) 
 

0
k  ;�T�;(5#(,-�K�$� ������ (Free Space) %(� $

in c

k ;�T�;� ;
$�.��0-������5$� ��%1� �����
����
  ��*& 
 

 $ $ $
in

0 0 0
( )

c

k u x v y w z= − + + $                                                        (2.39) 
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")�*/- 
0 0

0 0

0 0

sin cos

sin sin

cos

u

v

w

θ φ

θ φ

θ

=

=

=

                                                        (2.40) 

 
)����:�;�������';5/������+__^�
  ��*&+)
K���;�T� 
 
 0 0 0 0in ( cos( ) )

0

c ejk u x v y z

E E
θ+ +

=                                                        (2.41) 
 

'
�%1������+���/%1����*
$� ;�������'������+__^�*�:���)K�&��;�� 0z ≥  +)
�� 
1(��������������
  ��*& (Incident Field)  �&����*/-��*
$�$$ +� (Reflected Field) �� 
+)$�;(V 
��  ���).5$�+�"#��
��� 

 
 tot inc ref

E E E= +                                                         (2.42) 
 
 %
�'
��/%1����*
$�&�%1������I��I. ��*��K�
�������K��� ��  (2.39) ;��/-�����K�

; �) ��;6��1�� s

J &�%1����*
$� %(� ��%�;6��1���/:��%1� ��(�����+����+)$�;(V 
��  ���). *��

K�
; �)����+__^� ��;��� (Scattered Field) scat

E  +�K�+)$�;(V 
�� %(�$� �� )����:�1(���5$�
����+__^�*�:���)5$�%1����*
$�K�&��;�� 0z ≥ #,$ 
  
 tot inc ref scat

E E E E= + +                                                        (2.43) 
   

2.6  ���������B�O���������&���
��
���������������4 
�� �� �� (2.43) ������*
$������� $&)
��������*
$��� %1��+)$�;(V 
��  

 ���).%(����� ��;���;�,-$���  ��%�;��/-�����&�$�(�;��
.+�"#��
��� U0-�����*�:��$�
�����';5/��K�
$�J�K��J���������*[�\ ����*
$�+)
)���/: 

 

 0 0cos

0

ref inc jk z

zE R E e
θ−

== ⋅                                 (2.44) 
0 0( )cos

0

scat inc jk z d

zE S E e
θ− +

== ⋅  
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2.6.1 ���������B�O���������!�����5�����������5���@#�����!�P����������4 
   ������*
$�K����5
$ 2.5 ��I����������"I(�+�U.���K� θ  %(� φ  %
�+��+)


I������$�#.��� $&K�%�����1�� %(������'��������*
$�K�$�#.��� $&5$�����+__^�
K�%��
�:�4� +)
")�K6
 0E∇ =�  U0-������';5/��K�
$�J�K�;*$�5$�����+__^���*
$�K�%��
���1��+)
;�T� 

 
0 0 0 0

0

sin cos sin sin

cos

ref ref

x r yref

z

E E
E

θ φ θ φ

φ

+
=                  (2.45) 

 

%�(��� �� (2.45) K�
$�J�K�I� �);6��5�:�+)
;�T� 
 

cos cos cos sin sin

sin cos

ref ref ref ref

x r r y r r z r

ref ref ref

x r y r

E E E E

E E E

θ

φ

θ φ θ φ θ

φ φ

= + −

= − +
             (2.46)

  
")�*/-  

 0

0

r

r

θ θ

φ φ π

=

= +
                                                         (2.47)

  
�� �� �� (2.43) %(� (2.44) ��+)
��������*[�\������*
$� ")���+)
�� $�
������

�������������*
$� �&����
  ��*&*/-����& 0z =  

       

0 0

0 0

2 cos

2 cos

j k dTM

j k dTM

R e

R e

θ
θθ

θ
φφ

= −Γ

= Γ
                                                        (2.48)

  
;�������';5/��������*
$�K��J�%&&;�
�� U. ;�,-$��� ����
  ��*&*/-�/"I(�+�U. 

$q  +)
)���/: 
$ $

$ $

0 0 0( cos )
0

0
o

ref

jk u x v y z

ref

E R a q
e

RE a q

θθ θθ θ

φφ φφ

+ −
   ⋅ 

=        ⋅    
                                         (2.49) 
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2.6.2 ���������B�O���������!�����5�������!$������
����@#����������������� 
  ������������*[�\ ����*
$�;�,-$���  ��%�;��/-�����&�%1����*
$�+�"#��
���
I�������� ���� ��;��� ")�K6
��;&/�&��[/"�;��
. U0-�;� ;
$�.��������*[�\+��*��&#�� [ ]I  ��
��+)
)
����[/;6��;(5%(����� ��;���K�$� ����,$+)$�;(V 
��  ��+)
�� �� ��*/- (2.50) 
 

 
( , , )

( , , )
( , , )

scat x

y

E x y d
E x y z

E x y d

 
=  
 

 

         �
''

' ' ' '
0

1 2

1
( , ) ( , )

sin

yx
jk yjk x

x y x y

m n

G k k J k k e e
T Tη η α

∞ ∞

=−∞ =−∞

= ∑ ∑                      (2.50) 

 
")�*/- 

 � �' ' ' '
0

1

( , ) ( , )
N

jx y j x y

j

J k k I J k k
=

=∑                                           (2.51)

  
����&�+)$�;(V 
�� �����';5/��K�;*$�5$�����;6��1��5$�+)$�;(V 
��  +)
)���/: 
 

 

( )

( )

' '

( )

( , , ) ( , , )

( , , ) ( , , )

( , , ) ( , , )
( , , )

z

z

z

jk z d

x x

jk z d

y y

x x y y jk z d

z

z

E x y z d E x y d e

E x y z d E x y d e

k E x y d k E x y d
E x y z d e

k

− −

− −

− −

> =

> =

+
> =

                         (2.52) 

 
")�*/- 
 
 2 '2 '2

0z x y
k k k k= − −                                            (2.53) 

 

'

0 0

1

'

0 0

2 1

2

2 2

sin tan

x

y

m
k k u

T

n m
k k v

T T

η

η η

π

π π
α α

= +

= − +
                                         (2.54) 

 
 ��I������#��#�
�� ��%I�� �����#(,-� (Propagation Constant) 

z
k  ������&"#����
��

%&&���#�&$���
. ��+)
��  ���$�.%�(+(U.�� �� (2.53) 
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22 ''

0 0 0

1
yxz

kkk

k k k

  
= − −       

                                          (2.55) 

��,$ 

 
22 ''

0 0

1
yx

kk

k k

  
+ <       

                                              (2.56) 

 
�� ��(2.56)K6
������&������*
$�;�,-$���  ��%�;6��1��&�%1����*
$�K�"��) 

m=0, n=0 %
�$����+� V
�� �� ��(2.56) �����'K6
������& ��/*/-���
  ��*& %(�#�&��,$
���������������%1����*
$��/$��)�&"��)�J�50:�+)
 ;I,-$K�
����K� ��$$ %&& ;����K6

Reciprocal Lattice��,$ Grating Lobe Diagram U0-�+$$�% ���/:��I(�$
#���$�.�$(+(U.5$� 

' , 'k x k y  �� �� �� (2.43)  K�����&  0/
x

k k  %(�  0/yk k  
��(��)�& )��%�)�K��J�*/-  2.13 
%(� �J�*/-  2.14 

 

 
�J�*/- 2.13 Grating lobe diagram %&& Broadside scan position 
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�J�*/- 2.14 Grating lobe diagram %&& Scan Position 

 
'
�;��;(,$  Grid Lattice %(����
  ��*&5$� (���%1����*
$�K�
$�J�K�"��) ��%1�

 �����#(,-� (m, n) = (0, 0) �����';5/���� �� (2.47) +)
K���;�T� 
 

0 0 0 0

( , , )
( , , )

( , , )

q
x x jk u x jk u yscat

q
y y

E x y d E
E x y d e e

E x y d E

  
= =        

 

           
0 0 0 0

0 0 0 0 0 0 0 0 0

1
( , ) ( , )

sin

jk u x jk u yq
G k u k v J k u k v e e

T Tη1 η2

=
α

             (2.57) 

 
")�*/- q #,$"I(�+�U.5$����
  ��*& )����:� q = θ  ��,$ q = φ  ;�,-$���
  ��*&$�J�K�"��) 
TM ��,$ TE 
��(��)�& %(�K�*���$�;)/�� �� �&#(,-���*
$� ;�������';5/��;�
�� U.����
 ��;���+)
�� #������I��[.����������� ��;��� �&����
  ��*& )���/: 
 

 0 0 0 0( cos )

scat inc

jk u x v y z

scat inc

S SE E
e

S SE E

θθ θ θ θ

θ θθ

φθ + −

φφ φ

    
=           

                               (2.58) 

 

.")�*/-  
( 0)

( 0)

scat

p

pq scat

q

E z
S

E z

=
=

=
                              (2.59) 
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%*��� �� (2.57) (�K��� �� (2.52)  %(�%�(�K�
$�J�K�I� �)*�� (� ��+)
 
 

0 0 0

0 0 0

( ) ( )

0

( ) ( )

cos sin

cos

sin cos

z

z

q q

x y jk u x v y jk z dscat

jk u x v y jk z dscat q q

x y

E E
E e e

E E E e e

θ

φ

φ φ

θ

φ φ

0 0 + − −

+ − −
0 0

 +
= −  

  

 = − 

                          (2.60) 

 
���K

;�,-$�+55$��� �� (2.59)  ��+)
$�(�;��
.;�
�� U.5$���������*[�\ �� ��;��� )���/: 
 

0

cos sin

cos

sin cos

z

z

q q

x y jk d

q

jk dq q

q x y

E E
S e

S E E e

θ

φ

φ φ

θ

φ φ

0 0

0 0

 +
=  
  

 = − 

                            (2.61) 

 
2.6.3 ���������B�O������������ 

 ��������*[�\���K�*�� ����*
$���+)
�� 1(������������������*[�\ ����*
$� 
;�,-$��� %1��+)$�;(V 
��  ���).%(���������*[�\ �� ��;���*/-1��%1����*
$� 
 

0

0

tot
R S S

R R S
R S S

θθ θθ θ

φφ θ θθ

φ

φ

   
= + = +   

   
                          (2.62)

   
'
�+���/ ���JY;�/����K�+)$�;(V 
��   ��+)
  | | 1,| | 1R R S= + =    %(� 0 | | 2S≤ <    ")�*/- S  �/

5��);*�� �& 2  */-#���'/-;�"U%��U.  %(��/;_�
�����   R  ;*�� �& 180° 
 

2.7  ��0� 
&*�/:+)
 (���'0��(�  ��%(�*q	s/
���W K� ��$$ %&&���$� ��%'�(��)�&��*
$� 

+)
% �  ��$$ %&&I,:�1����*
$�$
��$�� �(�  ����*
$�#(,-�5$����$� ��%'�(��)�&��*
$� 
U0-�*��K�
*��&��[/ #������� ��������;_� �$ �� ��:�����0 	�;*#��# ��$$ %&&%1����*
$�
�J�%&&
���W ���'0��0 	�Iq
� ���5$�����*/-
  ��*&%(�������*
$�&����$� ��%'�
(��)�&��*
$� �0�*��K�
*��& �����($�%&&����������*[�\ ����*
$�%(�K�&*
�$+���
���;��$  �����($�%&&�� *q	r/*/- (����� %(�$$ %&&���$� ��%'�(��)�&��*
$�
�$+� 
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����� 3 
������������������!����$4 

 

3.1 ���
� 
 K� ��$$ %&&%(� �����;#����. ;��-�

�;�����/ �� ����)I,:�*/-#�$&#(��;�T��J�
�� (��$���U0-����
��K�
��%����*/-
��� ��  �/ �� ����)���$� ��������&�^$�   ����"#+U�.
5$����$� ���^$� ;�,-$+)
%(
��������;#����.���$� �������*
$�;)/-��)�)�J�$
��$��  ;I,-$�����
I������ ��������;_�5$������*
$�;)/-��)�)�J�$
��$�� ;�,-$+)
 ��������;_�%(
� VK6

#��(� 	��5$�%1����*
$�*/-��+)
�� "��% �� CST ��;��/�&;*/�& �� ;I,-$*/-��+)
5��)5$�
%I*U. (Patch) K� ��50:��J�%(�+)
%&&�J� ��%1� ��(�����
��*/-+)
 ����)I,:�*/-#�$&#(��+�
  ��
 ����)I�����;
$�.
���W �/)���/: 

-  #���'/-�s�&�
� �� ������& ��K6
���K�����#���'/- 2.45 GHz 
-  (� 	��I,:�*/-#�$&#(���J��� (��$�&��;�� 
-  $�
��5���5$���&&���$� �� = 20 dB 
-  5��)5$������*
$�  40×40 cm. 
-  ����"_ ��5$����$� ����*
$� f = 12 cm. 
-  ���$� ���^$����$()�  
 

3.2 ����
�$��1� ����������0� 
 K�"#������/:���/ �� ����)I,:�*/-#�$&#(���$�&��;��*/-�/(� 	��;�T��J��� (� 
 )���J�*/- 3.1 
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�J�*/- 3.1 I,:�*/-#�$&#(���$�&��;��*/-�/(� 	��;�T��J��� (��$���%��
�:� 

 

3.3 �������	�Q��������� 
 ���$� ���^$����$()�;�T����$� ��%&&;�����*��*�� ")��J
� �������$� ����$�
;�/��%&&;�
�"#
�%&&;$ "�%��;6/�( )���/: 
 

21 CeCy
RZ +=                                 (3.1) 

 

")�*/- 
12

12
1 RzRz

ee

yy
C

−

−
=  %(� 

12

12

21

2 RzRz

RzRz

ee

eyey
C

−

−
−  

 
 P

1
(y
1
,z
1
)  #,$��) (y

1
,z
1
)  ��)%� */-;��-�"#
�;$ "�%��;6/�( 

 P
2
(y
2
,z
2
)  #,$��) (y

2
,z
2
) ��)��)*
��5$�;�
�"#
�;$ "�%��;6/�( 

  
�J�*/- 3.2 - 3.6 %�)�1( �����($�%&&���$� �����$()� U0-������'K6
���K�����#���'/- 2-6 GHz 
�/$�
�� ��5��� (Gain) ������ 9-11 dB ������&���$� ���^$����$()�*/-�����K6
����/5��) 
31.88 x 15.3 ;U�
�;�
� ;(,$ K6
���*/-#���'/- 2.45 GHz U0-��/$�
�� ��5���;*�� �& 11 dB 
��������*[�\ ����*
$�#(,-� S11 ;*�� �& -46 dB %(�#�� VSWR ;*�� �& 1.2 

U 

V 
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�J�*/- 3.2 ���$� ���^$����$()� 
 

  
����*/- 3.1 "#����
�����$� ���^$����$()� 

            ���'.��������	������� &��� (mm) 

#���������$� �� 318.8 
#��� �
�����$� ��                               153 
#������5$���$�   271.7 
��������5$���$�                                75 
;�
�1���J��. (���� (�5$��
�&                                30.4 

                 #��� �
��5$�����^$�+�"#��
���                                5.13 
             #������5$�+)$�;(V 
��                                 1.6 
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�J�*/- 3.3 ��������*[�\ ����*
$�#(,-� (S11) 5$����$� ���^$����$()� 
 

1 2 3 4 5 6 7
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�J�*/- 3.4 #�� VSWR 5$�����^$����$()� 
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�J�*/- 3.5 %�)�'0�%&&�J� ��%1� ��(�����K�����&����+__^� (E-Plane) U0-���I&���(��
#(,-��(� �/$�
��5���;*�� �& 10.56 dB "�(&)
��5
���/$�
��5���;*�� �& -17 dB �����J�*/- 3.6 
%�)�'0�%&&�J� ��%1� ��(�����K�����&����%��;�(V  (H-Plane) U0-���I&���(��#(,-��(� �/
$�
��5���;*�� �& 10.56 dB  "�(&)
��5
���/$�
��5���;*�� �& -15 dB  

 
°0θ =

 
 

�J�*/- 3.5 %&&�J� ��%1� ��(�����K�����&����+__^� (E-Plane) 5$����$� ���^$����$()� 
 

°0φ =

 
 
�J�*/- 3.6 %&&�J� ��%1� ��(�����K�����&����%��;�(V  (H-Plane) 5$����$� ���^$����$()� 
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3.4 ���$��
�������S�4&��������� 
    ���� ��(��"#+U�.5$����$()� ��+)
��  �����;$�1(5$�%&&�J� ��%1�I(������  ��
���($�%&&K�����&����+_^_^� %(�K�����&���� %��;�(V ��%&&;��/�&;*/�& �& ��(��5$�
"#+U�.K�$��)�&
���W 1(*/-+)
;�,-$*�� ��;��/�&;*/�&%(
� I&���K�����&����+_^_^�  ���$� ��
�^$����$()���+)
#�� ��(��"#+U�.*/-  ��(�� 8 (Cos8θ) )���J�*/- 3.7 %(�K�����%��;�(V  ���$� ��
�^$����$()���+)
#�� ��(��"#+U�.*/-  ��(�� 2 (Cos2θ) �J�*/- 3.8   

     
�J�*/- 3.7  ��(��"#+U�.5$����$� ���^$����$()�K�����&����+__^� (E-plane) 

 
�J�*/- 3.8  ��(��"#+U�.5$����$� ���^$����$()�K�����&����%��;�(V  (H-plane) 

θ 

θ 
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3.5 �������	5��������!���������-�������� 

;�,-$+)
 ��(��"#+U�.5$����$()�������& ����)#��I�����;
$�.5$����$� ��
���^$�K�

���5
$ 3.4 %(
� �� ��:�K6
�(�  ��5$� PO %(� PTD ����;#����.���$� �� ")��/ �� ����)

I�����;
$�.)���/:  

- #���'/-�s�&�
� ��K�����#���'/- 2.45 GHz 
- (� 	��I,:�*/-#�$&#(���$�&��;��*/-;�T��� (�  
- $�
��5���5$���&&���$� �� = 20 dB 
- 5��)5$������*
$�  40×40 cm. 
- ����"_ ��5$����$� ����*
$� f = 12 cm. 
- ���$� ���^$����$()�  

%(�K6
�� ��(3.2) ;I,-$�� Z
r
 5$������*
$�$
��$�� 

 

( ) 2

9

2

87

3

6

2

54

3

3

2

21, rrrrrrrrrrrrrrr xyayxayxayayayaxaxaxayxz ++++++++=  

     
( ) ( )yfxfC n

Nx

m

Ny

n

mmn∑∑
= =

+
1 1

    (3.2) 

 

;�,-$+)
*�� ����;#����.%(
� ��+)
�����*
$�;)/-��)�)�J�$
��$��*/-�/I,:�*/-#�$&#(���$�&��;��;�T�

�J��� (�  )���J�*/- 3.9 
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�J�*/- 3.9 ���$� �������*
$�;)/-��)�)�J�$
��$��*/-�/I,:�*/-#�$&#(���$�&��;��*/-;�T��J��� (� 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 



 

36 

 ���$� �������*
$�;)/-��)�)�J�$
��$��)��*/-��� s)���J�*/- 3.9 �/ �� ����)K�
���;(V��/
#��;*�� �& 0 $��� %(�;�,-$������$� ������;#����.)
�� �����[/*��#��
���
�.U0-����/ ����&�'0�

��%������)��*
$�K�
���I��[. �&
��%���� �����5$�%
�(�$�(�;��
.5$����$� ��%'�(��)�&
��*
$� ��*��K�
;����#�� ��������;_�+)

�$+� 

 

3.6 ���������!T�  
")�*�-�+� ���$� ��%'�(��)�&��*
$�K6
�(�  ��$$ %&&%1����*
$�+�"#��
���

��,$%1����*
$�+)"I(K�
�/ ��������;_� (Phase Delay) ;��,$�
��(� 	��1��"#
�5$�
���$� ��
����*
$� ;�������'#������� ��������;_�;�,-$��� #(,-�;)��*���� 
���^$�
��YY��+�������$� ��%'�(��)�&��*
$�%(
���*
$� (�&+������������+ (+)
)���/: 

 
 

02 rk zφ =                                    (3.3) 
 
;�,-$ z

r
 #�����+)
�� �� ��*/- (3.2)  1( ��#������� ��������;_�%�)�)���J�*/- 3.12 
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�J�*/- 3.10   ��������;_����$� ��%'�(��)�&��*
$�*/-�/I,:�*/-#�$&#(���$�&��;�� 
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3.7  �0.���'.��@#������� 
 #��(� 	��%1����*
$�%�)�+)
)���J�*/- 3.12 U0-�%�)�#������I��[.�������;_�5$�
��������*[�\ ����*
$���� �&5��)%1����*
$�*/-#���'/- 2.45 GHz   ")��/ ��K6
"��% �� 
CST ;I,-$���($�1( �/ �� ����)#��I�����;
$�.
���W )���J�*/- 3.11 %(� ����)#��#������5$�
%1��*$�%)�;*�� �& 0.035 ��(�;�
� #������5$�%1������U. FR4 ;*�� �& 1.6 ��(�;�
� %(����I
�$� (εr) = 4.5 

 
�J�*/- 3.11  �� ����)I�����;
$�. 
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�J�*/- 3.12 #������I��[.�������;_�5$���������*[�\ ����*
$� 

��� �&5��)%1����*
$� � #���'/- 2.45 GHz 
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�� �J�*/- 3.12 ;�,-$I������#������I��[.�������5��)%I*U.(Patch)  �& ;_�%1����*
$� 
(Reflection phase) I&��� */- 5��)%I*U.K�6��� 10-21 ��((�;�
� 5��);_�5$�%1����*
$����/
(� 	��*/-#�*/-������ 325-350 $���  K�6��� 21-33  ��(�;�
� 5��)5$�;_�5$�%1����*
$��/
(� 	��;�(/-��%�(�$������);�V�*/-������ 75-325 $��� %(�K�6��� 33-45 ��(�;�
� 5��);_�
5$�%1����*
$����/(� 	��#�*/- ������ 75 $���   
 

3.8  &���&���1�S4 (Patch ) 
 ;�,-$*�� ��������;_��� ���5
$ 3.6 ")� ��;��/�&;*/�&1(*/-+)
  �& ��_#������I��[.
�������;_�5$���������*[�\ ����*
$���� �&5��)%1����*
$� � #���'/- 2.45 GHz )���J�*/- 
3.12 ��*��K�
+)
5��)5$�%I*U. (Patch) )��
����*/- 3.2 ;I,-$K6
K� ��$$ %&& 

3.8.1 &����1�S4�������	5���������������
������ 
                              

����*/- 3.2 5��)%I*U.5$����$� �������*
$�%&&��)�J��$�(��#(,-��J��� (�%��
�:� 

��� x  (�����!���)  ��� y  (�����!���)    &���  (����!���) 
-175 -175 26.5544 
-175 -131.2 22.9673 
-175 -87.5 22.2512 
-175 -43.8 26.3318 
-175 0 0 
-175 43.8 14.6722 
-175 87.5 26.8429 
-175 131.2 26.0407 
-175 175 31.3087 
-131.2 -175 0 
-131.2 -131.2 33.507 
-131.2 -43.2 23.947 
-131.2 0 0 
-131.2 43.8 0 
-131.2 87.5 26.4639 
-131.2 131.2 26.0778 
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��� x  (�����!���)  ��� y  (�����!���)    &���  (����!���) 
-131.2 175 34.0991 
-87.5 -175 26.2041 
-87.5 -131.2 24.7053 
-87.5 -87.5 25.9965 
-87.5 -43.8 31.7493 
-87.5 0 27.1710 
-87.5 43.8 28.3695 
-87.5 87.5 22.5249 
-87.5 131.2 21.5591 
-87.5 175 27.7719 
-43.8 -175 28.2315 
-43.8 -131.2 27.3621 
-43.8 -87.5 29.6378 
-43.8 -43.8 22.8054 
-43.8 0 0 
-43.8 43.8 18.8803 
-43.8 87.5 28.3313 
-43.8 131.2 28.1980 
-43.8 175 19.6999 
0 -175 29.7630 
0 -131.2 29.0952 
0 -87.5 0 
0 -43.8 25.9748 
0 43.8 25.6706 
0 87.5 0 
0 131.2 0 
0 175 25.9766 

43.8 -175 29.4637 
43.8 -131.2 29.4596 
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��� x  (�����!���)  ��� y  (�����!���)    &���  (����!���) 
43.8 -87.5 0 
43.8 -43.8 26.4145 
43.8 0 24.7243 
43.8 43.8 26.3664 
43.8 87.5 0 
43.8 131.2 0 
43.8 175 26.4938 
87.5 -175 28.0033 
87.5 -131.2 28.2755 
87.5 -87.5 0 
87.5 -43.8 26.1460 
87.5 0 23.9623 
87.5 43.8 26.0461 
87.5 87.5 0 
87.5 131.2 0 
87.5 175 25.7141 
131.2 -175 26.4729 
131.2 -131.2 26.7691 
131.2 -87.5 30.1804 
131.2 -43.8 24.5073 
131.2 0 14.9526 
131.2 43.8 23.8895 
131.2 131.2 29.1514 
131.2 175 19.1573 
175 -175 24.6755 
175 -131.2 25.0771 
175 -87.5 27.2740 
175 -43.8 0 
175 0 34.4943 
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��� x  (�����!���)  ��� y  (�����!���)    &���  (����!���) 
175 43.8 0 
175 87.5 26.3832 
175 131.2 25.6527 
175 175 29.3179 

 
3.9 ����-�����@#���5���
������� (Far field pattern) &���������	�
��
���� 
      ���������������  
 %&&�J� ��%1� ����� ��(�����5$����$� ��%'�(��)�&��*
$���+)
�� 1(����������
���� ��;���%(�������*
$��� %'�(��)�&%1����*
$�  ")����
�K�
�����/ �� ����)
 �����$�J�&�%��(��)�&��*
$���� �)  U0-�#(
�� �&�(�  ��5$� Huygens Sources ")��/������
��*[. ����*
$����J( �&��������*[�\5$� ����*
$����5$�(��)�&$���
. ��+)
��������+ (
������&���$� ��%'�(��)�&��*
$�
���� ��      

  
0

0

1

( , ) i i

jk r N
jk r atot inc

RA t i

i

e
E R E e

r
θ φ

−
−

=

= ∑
)
�

                                                   (3.4) 

3.9.1 ����-�����@#�
�������&���������	�
��
�������������5���-�����
������ 
 

 
�J�*/- 3.13 %&&�J� ��%1� ��(�����K�%��"I(�+�;U6������5$����$� ��%'�(��)�&��*
$� 

%&&�$�(��#(,-� 
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�J�*/- 3.14 %&&�J� ��%1� ��(�����K�%��"I(�+�;U6��+5�
5$����$� ��%'�(��)�&��*
$� 

%&&%&&�$�(��#(,-� 
 

�J�*/- 3.13  %�)�%&&�J� ��%1� ��(����� ��(�����5$����$� ��%'�(��)�&��*
$�  U0-�
���; 
+)
���%&&�J� ��%1� ��(�����#�$&#(��I,:�*/-�$�&��;��)
�� �� %(��/$�
��5���$�J�K�6��� 
15-20 dB ")�*/- sin cosU θ φ=  %(� sin sinV θ φ=  

 
3.10 ��0� 
 K�&*�/:���;��$
��$���� ��$$ %&&���$� ��%'�(��)�&��*
$�*/-�/I,:�*/-#�$&#(�� 
������&������&;#�,$5���*
$�'�-�+�
���*/-#���'/- 2.45 GHz �/ �� ����)5��)I,:�*/-#�$&#(��*/-
���
�50:�$�J��$�&��;��)
�� ��  %(��/$�
��5���;*�� �& 20 dB U0-� ��$$ %&&%1����*
$�5$�
���$� ��%'�(��)�&��*
$�+�"#��
���)
��;*#��# ����);_�5$���YY��K�
; �)#��(� 	��
;��,$�1��"#
�5$����$� �����*
$�;)/-��)�)�J� ��K6
 ����;#����.�� ��������;_�;�,-$��� 
(� 	��*/-%
 
��� ��*��;�5�#��
5$����$� ��%'�(��)�&��*
$� �&���$� �����*
$�;)/-��
)�)�J�  %(
�;��/�&;*/�& �& ��_#������I��[.�������;_�%(�5��)5$�%1����*
$�+�"#��
���
*/-+)
��  ����#��(� 	��%1����*
$� %(��������'��5��)5$�%I*U. (Patch) ;I,-$K6
K� ��
50:��J����$� ��
�$+� 
 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 



 

43 

����� 4 
@��������� 

4.1 ���
� 
 K�&*�/:��;�T� �����*q	r/%(��(�  ��*�:���)*/-+)
 (���+�
K�&**/- 3 ��6���K� ��
$$ %&&%(���;#����.#��(� 	��*/-���#�Y5$����$� �� "#����
�����$� ��*/-���;��$�/:;�T�
���$� ��%'�(��)�&��*
$�+�"#��
���%&&��)(��#(,-��J��� (��$��� ")���$[�&��'0���[/ ��
��
�����$� � ��

�%&& �� ��:�������$� ��

�%&&����)*)�$&#��(� 	�� +)
% �%&&
�J� ��%1�I(�����*�:�K�����&����+__^� %(�����&����%��;�(V  I,:�*/-#�$&#(�� $�
��5���
5$����$� �� %(����#��(� 	��+�;��/�&;*/�& �&1(;4(�*/-+)
��  �����($�%&& 
 

4.2  ���������������	�Q��������� 
 ;�,-$+)
1( �����($�%&&5$����$� ���^$����$()�K�&**/- 3 �� ��:��0�*�� ����
��
���$� ��
���^$����$()�

�%&& )���J�*/- 4.1 ;�,-$*�� ����
�����$� ���^$����$()� �� ��:�*��
 ��*)�$&���$� ���^$����$()� +)
#��(� 	��5$�����^$����$()� )��
����*/- 4.1 
 

 
 

�J�*/- 4.1 ���$� ���^$����$()� 
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����*/- 4.1 #��(� 	��5$����$� ���^$����$()� 

#��(� 	��5$����$� �� 
1( ����)*)�$& 

����&����+__^� ����&����%��;�(V  
#��� �
��(��#(,-�#�0-� ��(�� (degree) 50.6 90.1 
$�
��5����J���) (dBi) 10.56 11 

 

4.3 ���������������	�
��
�������������5���-��
�������-����������� 
K�"#������/:+)
;(,$ K6
%1��+�"#��
��� FR4 U0-��/#������ 1.6 ��((�;�
� %(��/#��

���I�$� 4.5rε = K� ����
�����$� �� ")����$� ��%'�(��)�&��*
$���'J $$ %&&K�
�/

%1����*
$�+�"#��
���5��)%
 
��� �������� 63 %1�� ������� �� 0.4λ
0
 %(�#���Z����
��� W 

5$���&&���$� ��;�T�)���/: 
1) #���'/-�s�&�
� �� 2.45 GHz 
2) ���$� ���^$� ��(��#(,-�;�T����$� �����$()� 
3) ���$� ��%'�(��)�&��*
$��/;�
�1���J��. (�� 40 ;U�
�;�
� 
4) ������������������$� ���^$� �&
����*
$�;*�� �& 12 ;U�
�;�
�  

 ������&5��)%1����*
$�*/-#���'/-;�"U%��U.I������+)
�� �� �� (4.1) )���/: 
 

0

0

2

2 1r

c
L

f ε
=

+
                                             (4.1) 

 
%
� ����
�����$� ��%'�(��)�&��*
$���:���K6
 ��;��/�&;*/�& ��������;_� �&;_�

��*
$� )����:��0�*��K�
;��*��&5��)*/-%*
����;I,-$�����$$ %&&���$� ��)�� (��� %(�;��
�����'$$ %&&�J�����;&,:$�

�5$����$� ��%'�(��)�&��*
$�")�K6
"��% �� CorelDRAW9 
+)
)��%�)�K��J�*/- 4.2 %(���+)
���$� ��

�%&&)��%�)�K��J�*/- 4.3  
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�J�*/- 4.2 �J�����;&,:$�

�5$����$� ��%'�(��)�&��*
$�%&&��)�J�(��#(,-��� (�%��
�:��$��� 
 

   
 

�J�*/- 4.3 ���$� ��%'�(��)�&��*
$�%&&��)�J�(��#(,-��J��� (�%��
�:��$���

�%&& 
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4.3.1 @����������������-�����@#1������&���������	�
��
���������� 
4.3.1.1  %&&�J� ��%1�I(�����5$����$� ��%'�(��)�&��*
$�%&&(��#(,-�)���$ 
%&&�J� ��%1�I(�������:�+)
*)�$&K���������+ ( #,$ 22 /R D λ≥  ;�,-$ R  #,$

������������������$� ��*)�$& %(����$� ��$
��$�� K� ��*)�$&�/:����*���/#��#�*/-*/-
#���'/- 2.45 GHz  %(� D  #,$ ;�
�1���J��. (��5$�
����*
$��/#��;*�� �& 30 ;U�
�;�
� U0-�K�*/-�/:
+)
K6
����^$����$()�*/-#���'/- 2.45GHz ;�T����$� ��$
��$��*����
�*/-;�T����$� ����� %(�
���$� ��*/-�����*)�$&���/ ��������&#(,-���  0 $��� '0� 360 $��� )���J�*/- 4.4 U0-���*��K�

+)
%&&�J� ��%1�I(�����5$����$� ��
����*
$�K�����&����+__^� %(�����&
����%��;�(V )���J�*/- 4.5 ")�%&&�J� ��%1�I(������/:��%�)�K��J�5$�$�
�� ��5��� )��
�� ��I,:���� (Friis Transmission Equation) 

 

               

2

4

r
t r

t

P
G G

P R

λ
π

 =  
 

 (4.2) 

 
;�,-$ 

t
P  #,$  ��(�����$��I�
*/-�^$�K�
���$� ����� 

t
G  #,$ $�
��5���5$����$� ����� 

r
P  #,$ 

 ��(�����;$�
.I�
5$����$� ����& 
r

G  #,$ $�
��5���5$����$� ����& ;�,-$���+���$�
��5���
5$����$� ����&K������ dB +)
)���/: 
 

, 10 10 ,

4
20log 10log r

r dB t dB

t

PR
G G

P

π
λ

  = + −  
   

 (4.3) 
 

 

�J�*/- 4.4 ��[/ ����)*)�$&%&&�J� ��%1�I(�����%&&(��#(,-�)���$ 
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�J�*/- 4.5 %&&�J� ��%1�I(�����5$����$� ��%'�(��)�&��*
$�%&&(��#(,-�)���$ 
K�����&����+__^� 

 
 

�J�*/- 4.6 %&&�J� ��%1�I(�����5$����$� ��%'�(��)�&��*
$�%&&(��#(,-�)���$ 
K�����&����%��;�(V  
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4.3.1.2 %&&�J� ��%1�I(�����5$����$� ��%'�(��)�&��*
$�%&&���$& 

 
�J�*/- 4.7 ��[/ ����)*)�$&%&&�J� ��%1�I(�����%&&(��#(,-����$& 

 
�J�*/- 4.8 $�� ��.������& ����)
��I� �) X-Y 
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�J�*/- 4.9 $�� ��.������& ����)
��I� �) X-Y */-K6
K� ����)���� 
 

 

                                  (a) 

 

 
 

                                  (b) 

 
�J�*/- 4.10 %&&�J� ��%1�I(�����5$����$� ��%'�(��)�&��*
$�%&&(��#(,-����$&(b) 

;��/�&;*/�& �&1( �����($�(a) 
 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 



 

50 

 �� 1( ��*)�$&%&&�J�I(�����5$����$� ��%'�(��)�&%&&(��#(,-�)���$ %(�
���$& ��;�V�+)
����J�%&& ��%1� �����I(�����5$����$� ��%'�(��)�&��*
$� �/#���
;6,-$�"�� �� ;�,-$;��/�&;*/�&#������I��[.��������J�*/- 4.7 ��,$ �J�*/- 4.8  �&�J�*/- 4.9 ")�*/- 
U=sinθcosφ %(� V=sinθsinφ  ")��J�*/- 4.10 ;�T� �����1( ����)���$&��;��/�&;*/�& �&1( ��
���($�)��5
��

�K�6���*/-�����'��)+)
 ;�,-$�)
��#������ �)5$�I,:�*/-�
$���) �0�+)
�/ ��%&�� ��
��)1(;�T����I,:�*/-)
�� �� ;I,-$K�
+)
1(#�&'
�� %(����1(��)*/-+)
*�:����I,:�*/-����� �� U0-�;�,-$
;��/�&;*/�& �&1( �����($���;�V�����/#������I��[. �� 
 

4.4 ��0� 
 K�&*�/:;�T� ��%�)� ����
�����$� ���^$����$()� %(����$� ��%'�(��)�&��*
$�
%&&��)�J��� (�%��
�:��$���

�%&& */-K6
K�#���'/-�s�&�
� �� 2.45 GHz ")��/ ��I������
%&&�J� ��%1�I(�����K�����&����%��;�(V %(�����+__^�  ��I�������J�%&& ��
#�$&#(��I,:�*/-*/- ����) �� 1( ��*)�$&I&������$� ��%'�(��)�&��*
$�%&&��)�J��� (�
%��
�:��$���

�%&&�/$�
��5���$�J�K�6��� 18-20  dB  
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����� 5  
����0� 

 

5.1. ��0� 
"#������/:+)
)��;��� ���0 	� ��$$ %&&���$� ��%'�(��)�&��*
$�(Reflectarray 

Antenna) ")����*q	s/%(� �����[/*������
�. ����I��K6
#�����%(���;#����.��;_�
 ����*
$��� ���$� ��%'�(��)�&��*
$� *��K�
�����'*��&#��(� 	��5$����$� ��
%'�(��)�&��*
$� +)
% � %&&�J� ��%1�I(����� $�
��5����J���) I,:�*/-#�$&#(�� U0-��/�J�����
(� 	��;�T��J��� (��$���K�(� 	��%��
�:� ;I,-$*/-����
�����$� ��������&����� 
.K6
���
)
�� ���,-$���%&&+�
��� #,$ ���,-$�����&&;#�,$5���*
$�'�-�%&&+�
��� (Wireless LAN) 

K� ��#�����%(���;#����.��#��(� 	��5$����$� ��%'�(��)�&��*
$� ;��-�

��� 
 �� ����)5
$�J(;��-�

�5$����$� ��%'�(��)�&��*
$� ��  �� �,&#
���5
$�J(*/-*��K�
*��&���
���$� ��6��)K);���� �&"#�����5$�;����:� V#,$ ���$� ��%'�(��)�&��*
$�+�"#��
��� U0-�
�/#����&�
�5$����$� ��#,$ 5��);(V  �*�)��) ��
��+)
���� ��#�'J  �:����� ;&� 
�)
�:����� %(�
;#(,-$��
����)�  U0-�")�*�-�+����/%&&�J� ��%1� ����� ��(�����;�T�%&&�� (� �0�*�� ��
$$ %&&���$� ��%'�(��)�&��*
$�+�"#��
��� ������&I,:�*/-#�$&#(��*/-�/�J��� (�%��
�:�
�$���  �����' ����) ��%1� ����� ��(�����K�
;�T��J�%&&
��(� 	��*/-

$� �� ����_Z� .6��
*��#��
���
�. */- ����)50:�#,$ 6��) 5��) %(�
��%���� �����5$����$� ��%'�(��)�&��*
$�
+�"#��
���   ���$� ���^$����$()� %(�#���'/-�r�&�
� �� (2.45 GHz) �� ��:�*�� ���0 	�%&&
�J� ��%1� ��(�����5$����$� ���^$�%(�����
  ��*&&�%'�(��)�&��*
$�  ���0 	� ��
������;_�5$����$� ��%'�(��)�&��*
$� %(� ���0 	�#������I��[.�������;_���*
$� �&
5��)5$�%1����*
$� ;I,-$K6
;�T�5
$�J(K� ����
�����$� ��

�%&& 

������& ���0 	�%&&�J� ��%1� ��(�����5$����$� ���^$����$()� *��K�
+)
%&&�J� ��
%1�I(�����5$����$� �� U0-����(�;$/�)*�:���)+)
 (���+�
K�&**/- 3 �� ��:�+)
��
�����$� ��


�%&& K� ����;#����.#��(� 	��5$����$� ��%'�(��)�&��*
$�

�%&& I&��� %&&�J� ��
%1�I(������/#����$)#(
$� ��*�:�K�����&����+__^�%(�����%��;�(V  ")�1(5$� ����)
*)�$&%(� �����($�1(�����'����+)
���%&&�J� ��%1�I(�����5$����$� ���/(� 	�� #(
��
�J��� (�%��
�:��$���
��*/- ����)+�
 %
��/$�
��5���#(�);#(,-$�;(V �
$�  U0-���;�
�5$� ��
#(�);#(,-$��������1( ����)*)�$&%(�1( �����($�1( #,$ $��; �)�� #����JY;�/�K���&&
���$� �� ;6�� #����JY;�/�K������� #���1�)I(�)��  ����)���
��%����
����*
$�%(�
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���$� ���^$���*��K�
; �) ��;(,-$�;6��
��%����5$�%&&�J� ��%1�I(����� %(�1( ��*&�� 
���I%�)(
$�5����)*)�$&���$� �� ;�T�

� 
 

 5.2 &��!������ 
������&���$� ��%'�(��)�&��*
$�+�"#��
��� */-#���'/- 2.45 GHz */-+)
*�� ��*)�$&

�/: 1(5$� ����)*)�$&%(� �����($�1( �/#���#(�);#(,-$�$�J�I$��#�� ��;�
�5$� ��
#(�);#(,-$��������1( ����)*)�$&%(�1( �����($�1( #,$ $��; �)�� #����JY;�/�K���&&
���$� �� ;6�� #����JY;�/�K������� #���1�)I(�)��  ����)���
��%����
����*
$�%(�
���$� ���^$���*��K�
; �) ��;(,-$�;6��
��%����5$�%&&�J� ��%1�I(����� 1( ��*&�� 
���I%�)(
$�5����)*)�$&���$� �� %(�$�� ��.K� ��*)�$& ������& ��I�l��K�
)/50:�
K� ��*)�$&���$� ��*/-)/��:� #������I,:�*/-"(��%(� �
��I$��#�� ��,$�
$�*/-+���/��YY��
�& ��;I,-$()�ZY�� ��&����,$��*
$�5$�#(,-�����������$� ��%(�;I,-$K�
+)
#��*/-%*
������ 
*/-��)  
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�������@-�!&��� 

���������	  
���

� ; �);�,-$���*/- 9  � r�#� I.�. 2530 �J��(��;��$�J�*/- 
��&(I���"(   
$��;�$I���#/�/ ������)�#���/[�����6 ���;�V� ���0 	���)�&��[���0 	���*/- 6 �� "��;�/��;�,$�
�#���/[�����6 $��;�$;�,$� ������)�#���/[�����6 ;�,-$�� I.�. 2548 �Z���&��;�T��� �0 	�6�:���*/- 
4 ��5���6����� ���"*�#���#� ����� ��6����� ������
�. �����*��(��;*#"�"(�/������/ 
 
�������������  �� �
�� ; �);�,-$���*/- 11 ��'����� I.�. 2530 �J��(��;��$�J�*/- 
��&("# (���  
$��;�$(���(����� ������)&��/����. ���;�V� ���0 	���)�&��[���0 	���*/- 6 �� "��;�/��[��*$�
I�*��#� $��;�$(���(�����  ������)&��/����. ;�,-$�� I.�. 2548 �Z���&��;�T��� �0 	�6�:���*/- 4 
��5���6����� ���"*�#���#� ����� ��6����� ������
�. �����*��(��;*#"�"(�/������/ 
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